
Question -1) The author of the passage would most likely agree with which of the following
statements regarding the role of the private sector in scientific research?

a) The private sector should fully fund all scientific research, as it leads to quicker market
applications.

b) The private sector’s involvement in funding research should be limited, as it may undermine
curiosity-driven science.

c) The private sector is better suited than the government to fund curiosity-driven research.

d) Private sector involvement in research has no impact on the quality of scientific outputs.
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Question -2) What can be inferred about the author’s perspective on the ANRF’s potential
impact on scientific research in India?

a) The ANRF will lead to an increase in public trust in science.

b) The ANRF will significantly reduce the autonomy of universities.

c) The ANRF is likely to promote more curiosity-driven research in natural sciences.

d) The ANRF might prioritize market-driven research over basic scientific inquiry.

Question -3) Which of the following is most analogous to the author's concern about the
"corporatisation of science research"?

a) A public school becoming a private institution that charges high tuition fees.

b) A library transitioning from physical books to digital books to save space.

c) A hospital shifting from patient care to primarily conducting profitable cosmetic surgeries.

d) A non-profit organization expanding its services to include for-profit ventures.

Question -4) The passage suggests that the ANRF Act could have been improved by:

a) Mandating that all research be funded equally by the government and private sector.

b) Increasing the proportion of funding dedicated to curiosity-driven research.

c) Ensuring that only marketable research receives funding.

d) Reducing the role of the private sector in research funding entirely.

Question -5) Which of the following best describes the tone of the author towards the current
government's approach to scientific research?

a) Optimistic and supportive.

b) Neutral and detached.

c) Critical and concerned.

d) Indifferent and uninterested.

Question -6) Based on the passage, which of the following would the author most likely
consider a disadvantage of relying heavily on private sector funding for scientific research?
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a) It leads to a surplus of patents that have no real-world application.

b) It results in the neglect of research areas that do not promise immediate financial returns.

c) It increases the public trust in science.

d) It encourages more innovation and competition in scientific research.
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